1. What is the expanded form of 351.144?
A, 3x100+5x10+1+1x(1/10)+4 x(1/100) +4 x (1/1000)
B. 4x100+2x10+7+3x(1/10)+2x(1/100)+5 x(1/1000)




You are right! Go to next.



You are wrong! Try again.



2. What is the expanded form of 612.432?
A, 6x100+5x10+9+5x(1/10) +2 x (1/100) + 9 x (1/1000)
B. 6x100+1x10+2+4x(1/10)+3 x(1/100) +2 x(1/1000)




You are right! Go to next.



You are wrong! Try again.



3. What is the expanded form of 794.746?
A, 7x100+3x10+8+7x(1/10)+1x(1/100) + 0 x (1/1000)
B. 7x100+9x10+4+7x(1/10)+4 x(1/100) + 6 x (1/1000)




You are right! Go to next.



You are wrong! Try again.



4. What is the expanded form of 890.8207
A, 8x100+2x10+1+8x(1/10)+0x(1/100)+ 1 x (1/1000)
B. 8x100+9x10+0+8x(1/10)+2x(1/100) + 0 x (1/1000)




You are right! Go to next.



You are wrong! Try again.



5. What is the expanded form of 969.289?
A, 9x100+6x10+9+2x(1/10) +8 x (1/100) + 9 x (1/1000)
B. 9x100+5x10+8+9x(1/10)+5 x(1/100) + 8 x (1/1000)




You are right! Good job!



You are wrong! Try again.



